750 COMA

JHOdSNVIL IS 34VY.LO3100 IHV.LO31003d

Z uip | eulbed

- 000 000 000 PPy AV| L

- 00‘0 loo‘o 000 earaprydunsod 15 Lnasap ap-dap easopryourid puo,] 9

0Z'GLY'9 00'9/€6Z  [86°0 08°096'22 Iojsuen) edwrel roImMIeY) edwer ug eardundop no PmMPEYD|

= 000 00'0 000 Jopale[nn vasouyoug no EmMPYD| ¢

00°0 - 00°0 000 00'0 ojuddr oxey| ¢
I€0 00°LSEV 00°008'8 6L0 00'6V¥ v (‘Bseuwr 9p 93951 ) SIA BIUNW N [[IINI[AYD Y
200 vb'1L02 by L8Y v10 00°082 d[eLIB[ES QJUBAIO JIBJURIES P PUO]
L0‘0 002, /€661 L0‘0 1€'21 o[euoIsajoid []0q I$ SIUSPIIOE P PUO,
€L'0 99'€90'| 8Z'SY6'2 800 Z9'188'L 'S'SVD
10°0 82'201 02'€82 10°0 £6°081 fewos op puog
050 ¥9'vSZ ¥ AN T 40 81925/ - SVD

] - 9

L'z 00°GSY'0Z 000995  |ov'sl 00°G81°'9¢ 2 Iefeg

Si'e Z0'005°0¢ LP'0cL' L8 12'61 0b‘0€9°08 £ :S1A BOUNW 1O TPIMIPYD| 7
000 - 000 Joo‘o 00°0 ® S[eLIdIBU I[[IN}[OYD )V
Al 08'9€2'8 00'zLsez  |9g'0 02'S.2°0Z 1119} 3P 9JBINOIXA [IOIAISS A
oo - 00°0 00°0 000 nipaw erjodjord no 1PINYRYD
Zs'0 - €l'sLL'Zl Z50 €1'GLLZ) elusaapay
220 a 00'590°S 44 00'590°S podsueay op 10[ooeo[(Tur 1§ Jo[ale[un varezIOUY
£0°0 s 00855} £0°0 008551 meredoy
100 F 00°092 10'0 00092 Ipunw erjodjoid 18 nion| ap juswediyoy
/00 - 00'122°1 100 00°'L2.°) S[IqeWNSUO0d o[eldjew IS SwiLid 1LI9BIA]
0L'0 " 00'v6€°Z oo 00'v6E°Z olerun ‘quiryos ap asaid “go15ojouyd) oL A1BIoug
¥6°0 - 00'zlzzz et 00ZL2'Z2 Hueyaiqny 18 [1qsSnquIo))

pL'e 08'9€2'8 £1'7€8€.  |8L'cl £6°009'S9 TIOIAISS 1S S[BLIDJBW [[IN)[OYD| [

) LI3)S3.1)
AL 1 BI[eI0L | WO/ T8 | 1] [0
Jeyuan el
nW/n anedY1dg JIIN
sndoag eIEOLId)UR BIIR)UdWEPUN]
9V 1314d0¥d 3a ILLYID0SY IS IDINSVYD [ILYNOGY V1 3a JLVINOS 1MN3IS3Aa VS STHIA ¥INLNYYS

J1VLHaNTvS 3d VINVdWNOD



o enibBa

ne|z ueoj
|elauas) 1012aliq

Z ulp Z euibed

"OSHNV ‘ 2002 / 60 JU [NUIPIO NO SJEjIULIOJUOD Ul JLOOJUI NE-S Sj9jLe] : BION

19| GZ'8 = w+0=h)
20°C = 0961/(%SXZ0'Z5 LSV 191202 = W
+20°2S1S¥) = D/(1oid eley, 1oV + V) = 1y 18] £2'0 = 0
18] 20251 'St = ¥y
18'6 0r'Z 18'6 Zv'L Zv'L (1A +1A) VAL Asnpur ‘e 1A
/S') 8€‘0 1S'L 8Ll 8Ll VALl lIA
SZ'g 202 §2'8 €2'9 €2'9 (A A} VAL Asnpxe ‘pel| “IA
00°L - 096'L 00°L 096°L - elewelboud esjepued| A
14 29'60v LV 09's96'¢61L |€Z‘9 86'G5S°9vL 3 (1li+11+1) asezugnjes ap eajepanoe uipiqo umuap| Al
00'0 - 00'0 Joo'o 00'0 g aJejjoAzep op 2100| 11
[6c'0 09'262'2 91'9¢2'6 2z'0 98'8.6'9 = (%G)woud| 11
G8'L 20'251 'Sy v1'62. %81 |09 €1°225°6E1 (g+v ) afejo) ainyayd| |
20'0 - 00'G8€ 20'0 00'58¢ SIedURUY [[PIIPYD| g
8’/ 20'251 'S vLvre 8L |66'S €1°261°6€L ( S+H+€+2+1) drejeoldxa op nompPYD| v
AN/19] L13)83.00
xepup [210L BIejoL | IN(/PIIeNUg | B[eI0L
/N aneayadg MOIN
sndoag BIBOLId)UE BAIR)UIWEPUN]

1dV.1319d0¥d 3A IILYIDOOSY IS IDINSYD IILYNOGY V13a ILVLHO0S 1¥N3s3a

LHOdSNVAHL IS 3HV.LO310D IHV.LOT1003¥d

VS STH3IA YANLINVHE
J1V1Ibd9NIvsS 3a VINVJINOD




Z ulp | euibed

00'0 000 00°0 00°0 PImpPYP N y| L
00°0 000 000 000 eazopryounsod 1§ undsap op-dap vasepiyourid puoj| 9
00'90%'t 00'4856L |19 00'8ZL°Gl edwrer uy eassundap no emMyEYD| g
00000} 25l L 210 25l Jopole[nn eaxoumyoul no ey
00'0 000 000 000 oluadrioxey| ¢
00'v.¥ 00'0¥9°Z 08'1 00'991°2 ((esewr 9p 9393011 ) S1A BOUNWI ND I[INJ[3YO Y
S6'CLl ¥8°082Z v10 68'091 o[eLre[es 2jUraId dIRURIES 9P PUO]
6Ly 0€'9L L 90°0 L1'69 oeuoIsajoid 1[0q I$ 9JUSPIIOR S PUO,]
¥1°269 80'8LL'} G8'0 ¥6'020°1 'S'SVD
£0'29 02's91L 80°0 11'86 fewos ap puog
¥5'88.°2 ze'z/e9  les's 81'€80'Y SVD
SO0Vl 00'0v0'ee  |Le'ol GG'€EO'61 5 e[eg
0£'P6S° L1 vi'zes vy |29z Yi'8€Z° 12 o :91A BOUNW 1O IRINIPYD| ¢
00°0 00°0 000 000 S[eLIoJeW [[91N}[AYD 91|V
02'269'G 00'v8S'6L  |iS°LL 08'926°Cl (HAY-d LIOdSN VL) 1151 9p 91BIN00XS T101AIDS )Y
00'0 000 loo'o . mnIpawr e1jodjoid no yamypy)
00'0 001218 G.'0 00'121'8 BluoAdpay
00'0 00'G8€°E 182 00'S8¢°S Hodsuex} op 10990 (1w 1§ 1ojale[nn earezipoury
000 00002 /1'0 00002 meieday
00°0 00'SPL AN 00'StL mounur e1jd9301d 1$ nuon| op juowediyog
000 S9'8ZY 9€'0 G9'8Z o[IqeWNSUO0] S[eLd)eW IS owiLid ILISIRA
00'0 0€'25S ob'0 0€'255 slernn ‘quuryos op 9sa1d “go13o[ouyd) BOLI09[S 131U
000 007220, |L6'g 007201 jueryaqny 1S [1qusnquIo))
02'/69°G se'vrler  |pLile GLU8Y I TIOTAIOS IS S[eLdjew [PMPYD| [
113])S3.1d 9
Hod Pl [e10], SAESE P [e10],
Ieyun [el0] Jejmun) y
/N anedyAdg 31" AN
sndoag BIBOLIDIUE BIIR)UIWIRPUN ]
301719Nd LN LILSNI/IDINONODI ILNIOV V1 3d ILV.INOS 1¥n3s3aa VS SIYIA HININVNS

LHOdSNVYL IS 3HV.LO3100 IHV.LOI1003THd J1VLHaNIvS 3d VINVdWOD




1§81 ueo

Jeiauag 1010311
1feisudD J03a1q

Z ulp Z euibed

"OSYUNY ‘ 200Z / 604U [NUIPJO NO SJEJULIOJUOD Ul JIWOOJUI NE-S S[ajLe] : BJON

19] £0°G6 = W+0=
20°SZ = Y02 1/(%SXS ' ¥6982 18] 20'6Z = v
+ G'¥6982) = O/(oid e1ey,19V + 19Y) = 1y 19] 00°0L = 0
18] 0S'769°'8¢2 = Py
80°CLL 862 80°CLL 0¢'es 0g'es (HA +IA) VAL Asnput ‘Juet] A
50’8l Gl'Y G0'gl 0g'cl 0c'el vALl ClIA
£0°'G6 20'se £0°G6 loo‘0z 00°0L (A Al) VAL ASNPxe el Iz
00l 000 Y02 L 00°1L ¥0C'L eewelboid eaemued| A
£0'G6 €2'621'0¢ LELIFPLL  |00°0L v1L'Z8Z'¥8 ( 1N1+11+1 ) aiezugnies ap eajenanoe uipiqo LNJUSA ‘Al
000 000 00'0 000 000 m 8le}joAzep sp ejoD|  TII
€Sy CLPEY'L gL'8vy’G £e'e PP'€LOY (%s)moid| °II
0506 056982 12'€96'80L 2999 12'892°08 (ga+v) ey aingeud| T
120 00'L€ 00°262 810 00'022 sledueuly MeMIPYD| g
62'06 05°259'8Z 12'902°80L  |6¥'99 L2°8v0°08 ( S+p+E+T+1) 2IejRO[dXd 9p PIMPPYD| 'V
9 LIJ)SAID )
AL e R [eIoL, S R [eI0],
aejun [e10], Tejup)
/N dpedyradg AN
sndoag BIBOLIdJUE BAIR)UdWIEPUN]
30119Nd IILNLILSNI/IDINONOD3T IINIDY Y1 3d ILVIHOS 1I¥N3IS3a VS SIHIA ¥INLINVHE

LHOdSNVHL IS 34V.LO310D IHV.LOI1003Yd

31V1I49NIvsS 3a VINVAINOD



